Surface Area of Prisms Warmup | MFM2P

1) Find the amount of cardboard needed for this box.

Method 1: Use a net and a table

Shape: Net:
3"
6" 2
2
e (1 3" 6"
: ~ |3cm
I >
6cm 8" | D , i 8"
8cm -
6"
3 s
Basic Shape #1 Basic Shape #2 Basic Shape #3
3
L_VJ 3 L 6
e __CS _ -
«
Area = [61?)': ,)J—\‘(_m)— Area = Y»,(L;“—L\-QSCW\,L Area = (’J'L%"\\le
Total Area (2 of each rectangle) = 9\4 + ’)A’ + L‘,C() J'“L\’% 4 HS g = ‘CQO .:,W\‘L

Method 2: Use the formula SA =2({Xxw+IXh+wXh)

= 1(‘61& + $ x4 (94%\

= (s 4 24 4 1%)

2 (@0)

€0 e




Surface Area of Prisms Warmup I MFM2P

2) Find the amount of tin needed to construct this can:
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Method 1: Use a net and a table
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3) How many cm’ of paper would you need to make the can’s label?
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